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1 HTTP stand for .
(A)  Higher Text Transfer Protocol {B) Hyper Text Technical Protocol

(C)  Hyper Text Transmission Protocol (D) Hyper Text Transter Protocol
(E)  Question not attempted
A A dF o w |
(A) BRI IR TS Ikl (B) ERIW IHL kel UIeldTd
(C) TR I I Terehe (D) TEWR TRL TR TIETRT
(E) HTana s
2 Where was Asia’s largest civil avialion event, ‘Wings India 2024° held?
(A)  Kochi (B) Lucknow
(C)  Mumbai {IDy Hyderabad

(E)  Question not attempted
UFSTT T FEH ST AW Sgead sriw, T Stear 2024° et srnts e o

(A) wieell (B) «&TF
(C) T (D) B
(F) ormia g
3 Who is the I¥ Indian Woman Athlete 1o win three Paralympic medals?
(A)  Mona Agrawal (B)  Avani Lekhara
(C)  Sheetal Devi (D) Kanchan Lakhani

(EY  Question not attempted
T YT TieR Ugeh: Siia Tet! gt TRE = Aiear TAeie i &7

(A)  HINT ST (B) afy @y
(C) fiere <alt (D) s Al
(F) 3T T

4 What will come in place of the question mark (?) in the following scries?

frreferfae #vft o weramae fams (7) o S o€ R ST
16,33, 98,197,590, °
(A) 981 (B) 1081
(C) 1181 (Dy 1231
(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]
5 Find the simple interest on ¥ 4,000 at 6%% per annum for the period from 4% feb. 2009 (o 18" April 2009.
(A) 3750 (B) T75.50
(Cy  T50.00 (DY  T90.00
(E)  Question not attempted

4 TREET 2000 T 18 3T 2009 Tk T 371 & T T 4,000 T 6% yferad =T &0 H TROr ST 1 o)

(A) T37.50 (BB) T75.350
(C)y T50.00 (DY ¥90.00
(E) gt o
6 Tn a certain code language, ‘life is good’ is coded as 'ti ve sw’, ‘enjoy life” is coded as ‘fs ti’ “‘character should

be good’ is coded as ‘nx, nu, bs su’. What is the code for “is® in the given code language?

Toret smie W A “life is good’ U ve s ‘enjoy Life’ 1 *[s (i “character should be good’ =T “nx, nu, bs su’
IS ToRAT SITAT 21 34T 41 75 I HINT 4 ‘is” o ToT0 7 1S &7

(A) (B) ve

() su (DY nu

(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

Q13] J&= 2 [ P.T.O.



7 P, Q.R, S, T, K and M are sitting in a straight line all facing north direction, but not necessarily in the same
order. There is only onc person sitting between K and R. T sits between P and S. There arc only two persons
between T and M. K sits on the immediate left of P and P sits in the middle of the row. Which of the following

pairs of persons are sitting at the extreme ends?

P,Q,R, 8, T, K i M a+ft s fem it SR g s Hef e d de E afm st i e T it fomeft opmr @ s
B K T8 R 3 767 el G o1k 81 81 P UE S 3 A § T 92T 2| T 31 M 26 sit= # et a1 o9tk 6 81 P 3 et
W SRAT SARCK <131 2 30 P 15T o olt= H ofet 2| FHferiad 3 W ohid 4 <1 s4fh foreepet foparld wwsis €2

(A) RQ B) ST

C©) KM M) T.M

(E)  Question not attempted / Bilfljﬂfﬁ RE]

8 Tn humans receptors for opioids are presentin
(A) CNS (Central Nervous System)
(I3)  Gastro intcstinal tract
(C) Respiratory tract
(D)  Both CNS (Central Nervous System) and Gastro intestinal tract
(E)  Question not attempted

AT sifaitegs it 3 vir ffire sifieites s (e & da v
(A)  HE bR dF (B) SSUA UL
(C) & Tft (D) T A T U S0 U 2T
(F) ormia g
9 Select the reptilian member found in Rajasthan :
(A) Indian Porcuping (B) Indian Chameleons
(Cy Wild boar (D) Buzzard

(E)  Question not attempted
TS H 910 ST A1 ST Ta€ 7 99 it

(A) ARG HE (3T diaelum) (B) W firfie (gfesm siferm)
(C) ST I (ITETS W) (D) TS
(F) ormia g
10 Which of the following will undergo faster bio-degradation?
(A)  Mango seed {(B) Mango peel
(C)y  Mango pulp (D} Mango wood

(E)  Question not attempted

frefafiaa & wewr a1 357 & S9-omveT e ST 2

(A) W& S (B) AT < fdeen
(C©) FHFTE (DY 39 i AR
(F) ormia g

11 Complete the sentence given by choosing the most appropriate word:
A person who admires/loves himself‘herself too much is a-
(A) Narcissist (B) Narcisus
(C) Novice (DY Numismatist
(EY  Question not attempted

Q13] J&= 3 [ P.T.O.



12 Choose the word opposite in meaning to-

SUSCEPTIBLE
(A) incredible (3) Immunc
(C) predictable (D) unpredictable

(E)  Question not attempted
13 Choose the word similar in meaning to the underlined word;
It is exasperating to listen to the suggestions of my neighbour about international affairs of which he knows

nothing.
(A) disappointing (3) amusing
(C) boring (D)  frustrating

(E)  Question not attempted

14  Choose the most appropriate option to complete the sentence:
The language of a circular is:
{A) vague {B) emotional
(C) objcctive (DY round about
(EY  Question not attempted

15 Choose the most appropriate word to complete the given sentence:

The City Centre Mall was crowded tourists.
(A) by ®) o
(Cy [rom (D) with

(E)  Question not attempted
16  Some metals sink in watcr, as:

(A)  their density is more than water, (B) their density is less than water
(C)  their surface area is less than water. (D) their mass is more than water.
(E)  Question nol allempled
7 I ST H G S 3, T <
(A) ST I I T ATF AT E (B)  TRT ITed STeT © o BN &
(C)  SToT JEIT &TheT STeT §f H BIaT & (D) ST 5901 5T & AF Tar e
(E) gt o
17 Brass is an alloy of :
{A) Copper and Zinc {B) Copper and Tin
(C) Tinand Lead {DY Iron and Nickel
(E)  Question not attempted
el T At O € -
(A)  HTI 3 FSie il (B) FWARfTH
() fsiteeshi (D)  olter 3 fehet &
(E) #Tana s
18  Find the numbers of triangles in the given figure:
e <t e smmapfer & Bregt At He @
(A) 27 B) 29
<« 31 Dy 17

(E)  Question not attempted / fﬂ?la?lfﬁ RE]
Q13 ] -Ié 4 [ P.T.O.



19 Kavita is mother-in-law of Seema who is sister-in-law of Ashok. Ajay is father of Vinod and only brother of
Ashok. Seema 18 wile of Ajay How is Kaviia related (o Ashok?
(A)  Mother (B) Sister
(C)y Mother-in-law (D) Wite
(E)  Question nol allempled
THTcra, ST = W & S arener o et 21 37, e o R it s 3 el T #) S SR o o 2
SHIAT ST  TohH TR Tl 87

(A) (B) =&d
(C) "= (D) Ot
(F) SFEia sy
20 Il North-Cast becomes Wesl, South-East becomes North and so on. What will Cast become?
(A) North-West (3) South-East
(C) North (D)  South

(E)  Question not attempted
afe 3T 3 o ST 2, SfET-ge 3T A Srar 2 S S ToRr s e S B e R e S

(A) TR -UiEm (B) =Heor-&
(C) W (D) ey
(C) AR 5

21 A cube is colored green on all faces. Tt is cut into 64 smaller cubes of equal size. How many cubes are there
which have only one tace coloured out?
TS 5 () T A T o 80T SR fT S 2 ST e 3 WA AT F 64 BIS-BI = (HRIET) H HreT e |
R e B (ST BT ST U e B O B
(N 20 (B) 22
) 24 D) 26
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

22 R -TFIET AT ¥ i F

it -1 (HHET U) Tt -11 (FT)

a.  gEd L AT

b, fod m 5%

C. I TI1. aga‘]%

d. g V. =RhE
Hrer feg e et 7 & warferss 3w s IR
(A) a-Lb-TV,c-TLd-TI (B) a-TLb-Tc-T,d-TV
() a-1ILb-ULc-1V,d-1 (D} a-I1V.b-llLc-1d-1
(E) #Tana s

23 ‘&NE veE § oI T B-

(A) @ (B) &
€ = (Dy
(F) 3T T

Q13] J&= 5 [ P.T.O.



24 Who was the first person to use word ‘Rajasthani” for the language of Rajasthan?
(A)  George Abraham Grierson (B) George Lincon Garryson
(C)  George William (D) George Franklin
(EY  Question not attempted
TISTEIT 561 WTOT o FoTt, “TISTEITHT IT6% 3T START Sarerd T sier = fepar?

(A) et o7amen fireeT (B) SIS feiohe TRIE
(C) St ferferam (D) i Shepfor
(E) #Tana s

25  With which occasion is the *Kacchi Ghodi” dance associated?

Choose the most appropriate option from below:

(A)  Navratra (B) Holi

(C)  Tegj (D) Marriages
(EY  Question not attempted

forr # 8 7 3 e

(A) T (B) B

(C) = (Dy T
(C) AR 5

26 The life history of the saints which is available in poetry form in Rajasthani language is known as

(A) TParchi (B) Vaat

(C)  Vachnika (D) Dawavait
(E)  Question not attempted

Tl T Sfta AT S ASTEAHT AT H 17 79 H 3qed ¢, Foermdl o

(A) T (B) =
(C) Fat= (D) eEEd
(C) AR 5

27  World’s [irst cloned bu(Talo was bom in which country?
(A) India (B) China
(Cy USA (D) Russia

(E)  Question not attempted

foreg ot Ut et 19 T <A Torer 297 § ot om?

(A) WRT (B) =
() T ®) =
(E) HTana s

28  When is the National Sports day celebrated in India?
(A) 21 August (B) 23 August
(C) 25 August (D} 29 August
(E)  Question not attempted
AR 0 U G foae e o omar 22
(A) 21 3T (B) 2331
(C) 253 (Dy 2931
(E) HTana s

Q13] J&= 6 [ P.T.O.



29  Who among the following is the author of the book titled *“Why Bharat Matters™?
{A) Rajnath Singh {B) S.Jaishankar
(C)  Nirmala Sitharaman (DY Amit Shah

(EY  Question not attempted
Teferlad o & i a1g IRG 326" JTHe: Yo o oitdeh 87

(A) Ty fEE (B) UH. SHSie
() e drammo (Dy Af IE
(F) 3T T

30  Aman lakes 5 days more than Bhanu 1o do a cerlain job and 9 days more than Pankaj. Aman and Bhanu

together can do the job in the same time as Pankaj. llow many days Aman alonc would take to do it?

SO IS T H AT § S T 11T it o 9 T STerer S T 2| 3THH 311 9T THereht 38 e 1 ] | 0o
o WHM W5 o1 €| 59 1 Bl QU L H SHebe] ST Tohe (& o6l 65 em?

(A 5 (B) 15

©) 20 (Dy 25

(E)  Question not attempted / 31?@'?&[ EE]

31 Ajay invesied a lotal sum of ¥ 7.100 in three dilTerent schemes ol simple inlerest al 3%, 5% and 7% per
annum. At the end of one year, he got same intercst in all three schemes. What is the amount of moncy
invested at 5%7?

ST | 3%, 5% HIL 7% Tt oW ohl 2T H IR ST & A1 STelT-SFe7T AISHIAT H et T 7,100 7 ey fopam
U Y o A T W AT FISTEAT H qHH S e 5% 9t ey e gy 9 2

(A) T3,500 (B) 2,500

(Cy T2,100 Dy T 1,500

(E)  Question not attempted / Bilfljﬂfﬁ RE]

. . 4 .
32 The value of 102816 + 25% of 512 0 of 7518 ;-

1028V16 + 512 3T 25% — 75 T % H AR -

(A) 4,700 (B) 4,910
(C) 4,180 (D) 5,900
(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

Y]
L

Choose the most appropriate reported form of the given sentence:

“Do you realize that the shoes you are wearing aren’t a pair?”, T asked.

{A) 1asked thalt was he aware thal his shoes aren’( a pair?

(3)  1told him that his shoes aren’t a pair.

(C)  Tasked him if he realize that his shoes were not a pair.

(D) Tasked him if he realized that the shoes he was wearing weren't a pair.

(E)  Question nol allempled

Q13] J&= 7 [ P.T.O.



34  Choose the most appropriate option to fill in the blank:

“Ts dad in?”

"“No, he isn’t. He home an hour ago. He yet.”
(A) Leave, not returned {B) Left, has not returned
(C)  Leaves, didn't return (DY Will have, has not returmed

(E)  Question not attempted

35  Choose the most appropriate option to fill in the blank;

By tomorrow afternoon, the planc carrying medicines for war victims off for Ukraine.
(A)  will take (B)  will be taking
(C)  will have taken {D} lakes

(E)  Question nol allempled

36 Match List-1 with List-I1
=t -1 gl -1 & gafaa i

List-1 (Decimal valuc) List-11 (Binary valuc)
T -1 (I o) Tt -1 (e 77
a. 4 L. 1000
b. 5 1. 1001
c. 9 L. 0101
d. 8 v, 0100
Choosc the correct answer from the options given below:
= faw aru feremedt # @ @t SR R
(A) a-IV,b-ILc-UL,d-1 {B) a-IV,b-Llc-1Ld-1
(C) a-TML,b-TV,c-T,d-1 (Dy a-ILb-TMLc-TV,d-T

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

37  “USB”stands for 2
(A)  Universal Serial Bus {(B)  TUniversal Series Bus
(C) Universal Sequential Bus (D) Uniform Series Bus
(E)  Question not attempted
guasr a7

(A FfEde Hifere 3w (B) gftade #fifts aw
(C)  AlaHe Hia e sg (D) I HIf o
(E) i ot
38  Which ol the lollowing wranslators converls high level language into low level language al once?
(A) Assembler (B) Compiler
(C) Interpreter (D) Controler

(.F.) Question not attempted
Freaferfiaa & & i 97 S1gaTee = T WIoT 1 U & 9 H A cfaer 9T afEhid waEr

(A) FHEeR (B) BN
(C) FTOX (D) FIeR
(C) AR 5

Q13] J&= 8 [ P.T.O.



39

40

41

42

Tors, block mountains, rift Valleys, bare rocky structures are physiographic features of which ofthe following
regions of India?

(A)  The Indian desert {B) TheTsland groups in India

(C)  The Peninsular Platgau of India (D) Northern plains of Tndia

(E)  Question not attempted

2R, ST A, I AT, T Ag §CarTL, WA & i oTed # § ford &1 o1 AT R van 87

(A)  WIRET Aseael (B) W Eid 4o
(C)  YIRT T THEY™ 931 (DY WG & 3wl HeM
(E) gt o

Who among the {ollowing 18 not appointed by the Governer of Rajasthan?
Choose the most appropriate option from below:

(A)  State Election Commissioner

(B)  Chairman of the State Public Service Commission

(C)  Vice Chancellor of State Universities

(D) Chicf Justice of Lligh Court.

(E)  Question not attempted

freferfiae o & fordt Treream < Tsemrer ST forager el foma s 22
Frfatias 7§ & waw s e )

(A)  TsY Falem A

(B) TS Tleh Tl 3TN o 3Te93

(C) T feraferamers & Ferafa

(D) 3=3 AT % Wy =t

(E) HTana s

Under Article 323 of the Constitution of Tndia, the State Public Service Commission has a duty to present an

annual report as to the work done by the commission, to whom?

(A)  Chicf Minister (3) Governor
(C)  Vidhan Sabha (D) Presideni
(E)  Question nol allempled

IR o UG o SFTo52 323 o e, TS wlch Holl AN &l dreiod & o o Ticar ST GRY ToT T e o o1

i o e s
(A)  HeE (B) TSI

(C)  Tererrrgra (D) gl

(E) HTana s

Which Article of Constitution of India, deals with the duties of the Chief Minister of State?
(A) Article 162 (3) Article 167

(C)  Articlc 164 (DY Articlc 165

(E)  Question nol allempled
R GITHTT T &I AT A= T4 o JAHA & el oh JUH el 87

(A) 3T 162 (B) &1T=3 167
(C) T2 164 (D) &= 165
(F) 3T T

Q13] J&= 9 [ P.T.O.



43 Which Indian received the *Green Oscar’, Whitly Gold Award 20247
(A)  Aumrita Devi (B)  Alice Garg
(C)  Purnima Devi Barman (D) Tulsi Gowda
(EY  Question not attempted
form aTeetta 1 T Siiee, eieet! Ties TR 2024 T g

(A)  STETSE (B)  Uferd i
(C)  ufefar &t wnda (D) e T
(C) AR 5
44  Who is the chairman of the committee set up to examine the issue of holding simultaneous elections in India?
(A)  Shree Ramnath Kovind (13)  Shrec Vijaypal Singh Tomar
(C)  Shree Baburam Nishad {D)} Shree Laxmikani Bajpai

(EY  Question not attempted
R H ToF T <1 0 o T3 ol <A o forw ifa wfirfa & sveae st

(A) ot Ty el (B) 3t fasmrme e die
(C) At sme e (D)t Feriienia sery
(E) gt o
45 2023 Arjun awardee, Divyakriti Singh of Rajasthan, is associated with which one of the following?
(A) Equestrian dressage (3) Equestrian cross country
(C)  Equestrian hunter trails (D) Equestrian show jumping

(EY  Question not attempted
TSTEAT 26l 310 Qo 2023 3 farstar, feeareptar fie, frer o & forw @ it 22

(A)  TSEaTd gETS (B) HSHARI I gl
(C) HEEaN §eet fosl (D) TSHART T e
(E) i ot

46  Who was the Chief Secretary of Rajasthan as on 5™ September 20247
(A) Satish Kumar (3) Jagdish Mccna
(C)  Subhash Chand (D)  Sudhansh Pant

(E)  Question not attempted
TSIET o T = (05 fiawe 2024 =0 i 47

(A) AT FAR (B) &I Hom
(©) gIu< (D) gHRTYT
(E) i ot
47  Who among the following was the first Chief Secretary of Rajasthan?
{A) Shri V. Narayan {B)  Shri Apurva Chandra
(Cy  Shri K. Radhakrishnan (D)  Shri Rajesh Bhushan

(E)  Question not attempted
FreTiaa o & TS o JoW qe |isE o 92

(A)  ofr &t arErr (B) ot s ==
(C) i %, TeE (D) it TSIy oy
(F) 3T T

Q13] J& 10 [ P.T.O.



48  When was ‘Direct Action Day’ celebrated by Muslim League?
(A) 15 August, 1945 (B) 16 August, 1946
(C) 10 August, 1947 (D) 20 August, 1947
(E)  Question not attempted
e T gRT T AT feaw w R T

(A) 153714, 1945 (B) 106 30&d, 1946
(C) 16 3TEq, 1947 (D) 20 37, 1947
(E) HTana s

49  Which art form is Mangilal Mistri associated with?
{(A)  Shahnai (B) Kavad
(C)  Pungl {Dy Ravan llatha
(E)  Question nol allempled
witfterTet fereft w1 deivr o e & 22
(A) TR (B) TS
(C) it (Dy U= geT
(E) #Tana s

50  Tn the first stage of formation of present state of Rajasthan Cabinet of matsya union was formed under the
leadership of
(A)  Shri Shobha Ram (3)  Shri Alwar Singh
(C)  Shri Peeru Singh {D} Shri Mange Ram

(E)  Question not attempted
AT USTEAT USA 3 TS o T o077 Ao T o1 HEHSeT (ohefah +1qeel H o ohaT T oT?

(A) s m (B) ot IR i
(C) o dix foe (Dy #tmim e
(C) AR 5
51 was first called “Maru’ then *Maruvara® and later on came to be called “Marwar’.
Choose the mosl appropriale oplion [rom below:
{A)  Jaipur (B) Jodhpur
(C) Bharatpur (D} Dholpur

(EY  Question not attempted
TS TEet AT T SITAT o, O AerT 3T STe O AIETS El S -
T © e 39 (e 4

(A) AR (B) S
(C) AR (D) dleTqR
(F) ormia g

52  Bamboo forest is found in which of the following districts of Rajasthan?
Choose the most appropriate option from below:
(A) DBanswara (3) Bikaner
(C)  Churu (DY Jaisalmer
(E)  Question nol allempled
ST &1 ST (Bamboo forest) TodH & famfeitge & 4 farg forer oy simar 22

e 5 o w3 forsheT =)

(A) SHETET (B) T
© & (D) SR
(C) AR 5

Q13] J& 11 [ P.T.O.



58

Chuliya waterfall is Tocated in which of the following regions of Rajasthan?

Choose the mosl appropriale oplion [rom below:

(A) Eastcrn plain region (3) Aravali region

(C)  South castern platcau region (DY Western desert plain region
(EY  Question not attempted

[T FATUTd TSR o efeaiiaa o ¥ ford &7 3 saferq 22

e o & e 3w forsme <)

(A)  uelf et & (B) 3 &
(C)  aferor o=ff et & (Dy  ufirft weeore Aert &
(E) HTana s

What perecentage of the total land mass arca of India is in Rajasthan?
Choosc the most appropriate option from below:

TR 3 Tt T 3T Tl SIeTa ST Tseer H 22

T O 4 e 3w T =]

(A)  7.3% (B) 13.3%
(C) 104% {Dy 12.4%

(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

Rosewood, Mahogony and Ebony species of irees are found in which type ol the following [orest areas?
Choosc the most appropriate option from below:

(A) Tropical Evergreen (3) Tropical Thorn

(C) Montane (D) Littoral and Swamp

(E)  Question not attempted

SIS, HEMIHT 3 UsHT SISATier o U e letRad | ¥ fare o &= H u1e ST &7

T © e 39 (e

(A) SORHSHT HemER (B) IVHHHT HidaR
(C) T (D) T IR TAEAT
(F) ormia g

Fefafiaa o =6 v gieer] v 81

(A) ST (B) e o=

(C) o (Dy vf=TwT

(E) HTana s

a7 o ffea o 2

(A) & B) =

) = Dy =17

(E) i ot

Freferfiaa amet o w1y ama -

(A)  TT9eRT 9 foreT| (B) FE R R TEm

(C) <9 ¥l <2l (D)  S=<IT HT & 97 § 3T 91|
(C) AR 5

Q13] J& 12 [ P.T.O.



59  TInthe 12! Five Year Plan of Rajasthan which sector has been given maximum allocation?
(A)  Industries (B) Power
(C)  Agriculture and Rural Development (D) Sccial and Community Service

(E)  Question not attempted

T o 12T Gerardfa Fiem § fore & ot s1fereraw stree faarm 22

(A) ST (B) da
(C)  ohfY ud Timafior forenrg (D) WIS ST WHETR: Har
(E) i ot

60  What is the minimum time limit for workers under MNREGA to get the wages for their work?
(A) awcck (3) a fortnight
(C) three weeks (D)} amonth
(E)  Question not attempted

WG o A 2ATHeh] o] SFek oI o (70 STl TT ohl <[ Qo HTHT 7 22

(A) THHAR (B) vgEfed
(Cy TR (D) THTEAT
(E) #Tana s

61  Select the most incorrect statement about Ganeshwar excavations.
(A)  Ganeshwar is an important site of copper culture.
(B) Tt was discovered at the source of river Kantali at Neem Ka Thana.
(C)  In Gancshwar cxcavations undertaken by the Department of Archacology and Muscums, Rajasthan,
brought to light about a 5000 (approx.) year old culture.
(DY Here copper was received [rom Harappans.

(E)  Question not attempted

TURET shl TS o UeH H Hel 31U U ohl 99 i

(A)  TIOTER TS o HEERI T U HEcaTyl T 2

(3)  TIOTER, 9 T AT H e FeT 3 Wia TR Eis T

() TG H eI P U HIreter S rT g o T e 6 o 5000 9 qeE SRpt e H o)
(D) el &gw T § qiar 9rH SR S o

(E) gt o
62  Kalibangan is located in which place ol Rajasthan?
(A)  Jaipur (B) Sikar
(C) Hanumangarh (D) Sri Ganganagar

(EY  Question not attempted
TSI ST o fore T ue feerg 22

(A) SRE (3) HER
(C) BTG (D) AT
(E) gt o

Q13] J& 13 [ P.T.O.



63 After the death of Rana Ratan Singh who became the ruler of Mewar?
(A) Maharana Pratap (13) Maharana Raj Singh
(C) Rana Vikramaditya (D) Rana Amar Singh
(E)  Question not attempted
O T fiE o1 4] o 9L TS ol e <hi- SH1?

(A) HERIOT ¥arq (B) HERT TS g
(C) o faskaTfecy (D) I 3 e
(E) HTana s
64  Who was the first woman chairperson of Rajasthan [[uman Rights Commission?
(A)  Kamla Beniwal (B) Kanta Bhatnagar
(C)  Pratibha Patil (DY Shanta Kumari

(E)  Question not attempted
TISTET WA SR ST 3h T8el! Afeel 3Teae i off?

(A)  HHT SHftaTe (B)  hidl WeT
(©) e wfeet (D) TfeT AR
(E) gt o

65  Thc body working at the highest level of Rajasthan administration system is :
Choose the most appropriate option from below:
(A)  Ministers (3) Government Scerctariat
(Cy  Governor’s office (D) Chief Minister’s office
(E)  Question not attempted
& T Jomredt (firem) & S=oay T W i e 8

freforfiaa & & v 3 forpe = -
(A) T (B) TN givEtaT
(C)  T=TI FETaT (D) TeaHst e
(E) gt o

66 Porpanaikottal, Sangam age site, is located in which state?
(A) Karnataka (3) Kcrala
(C)  Arunachal Pradesh (D) Tamil Nadu
(E)  Question not attempted
UlU-ehIgs, BT I T, Tord T W ey 82
(A) FAH (B) *
(C)  STOI=IeT YT (D) AHATS
(E) HTana s

67  Who is the first Asian player to be nominated for International Tennis Hall of Fame?
(A)  Yuld Bhambri (13) Rohan Bopanna
(C) Leander Paes (D)  Mahesh Bhupati

(E)  Question not attempted

FHRTER I8 BT ST HH ok (A A TeRd B 1ol Ugel TRHTE RaaTS! i 87

(A) T AR (B) & AT
(C) ferdsrog (D) =ew i
(E) HTana s

Q13] J& 14 [ P.T.O.



68  How many types of genotypes are formed in F2 generation of monohybrid cross?
USHAGEHL HRWT 2l F2 el 4 ford e YehR o S19%d HiHd gid 82
(A) 9 ®) 4
@ 3 Dy 2
(E)  Question not attempted / 31?@'\’&[‘5[‘3

69  Which coal contains the highest amount ol carbon?
{A) Lignite {B) Peal
(C) Biluminous (D) Anthracile
(E)  Question not attempted
ToRE =izt | SATEha™ HTAT H Shisi JTIT SITT &7

(A) fomree (B) dle
(C) oo (D) T
(F) ormia g

70 Select the planis [ound in the sublropical mountain forest in Rajasthan :
{A)  Kheyjri, Ber {B) Ker, Thor, Foag
(C) Mango, Neem {D) Dhokra, Palash
(E)  Question not attempted
TSTET 1§ 3W-ISRRfIeief T UaTel a H 910 ST Al i1 1 < hifsr
(A)  EEI, ST (B) T, IR, BT
(C) =, g (D) IR, TeATST
(F) ormia g

71 Which of the following is the state flower of Rajasthan and is also a timber yielding tree?
(A)  Khejri (B) Sunhemp
(C) Rohida {DY Shisham

(E)  Question not attempted

fFreferfiaa & € i 97 TereIT 31 T5T T & S U AT kel Yo i aren a7 «f 22

(&) @ (B) W
©) e (D) sfem
(C) AR 5

72 Choose the word similar in meaning lo- TENACIOUS
(A) timid (B) modest
(C) resolute (D) malign

(E)  Question not attempted

73 Which of the following is NOT an input device of computer?
(A)  Trackball (B) Tmage scanner
(C) Joystick (DY Monitor
(E)  Question not attempted

freforfiaa & & @ a1 et it v 3e feargw Tt ©

(A) Tt (B) TN
(C) <aRe® (D) Hif¥ex
(C) AR 5

Q13] J& 15 [ P.T.O.



74 Data are transferred between different components of a computer system using physical wires called :
(A) CPU (B) Flowchart
(C) Bus {D} WAN
(E)  Question nol allempled

et ot v T o T derear! o e sitfores AT ot Swai shteh Tt fopan ST 2 32 o ST &:

(A) € (B) WA
C) &9 (Dy a7
(C) AR 5

75  Choosc the most appropriatc word to complete the given sentence:

A tectotaller is onc who abstains alcohol.
(A) in (3)  with
(C) from (DY on

(E)  Question not attempted

76 Choose the most appropriate Hindi word for the given word; REGULATION
(A) 3T (B) eI
() Tt (Dy  FHerdr
(EY  Question not attempted

77 Name the largest Solar Park of Tndia which is situated in Rajasthan.
Choose the most appropriate option from below:
(A)  Charanka Solar Park (B) Pavagadh Solar Park
(C) Bhadla Solar Park (D)  Mandsaur Solar Park
(E)  Question not attempted

SR o Tell =2 HIe ek o1 419 SIdT0, 511 Toh Tt o ferg 27

T © e 39 (e

(A) <Rl Tie 91 (B) UTHTTS Wieil Uik
(C) VTS HieR arh (D) HEHHIAT qeh
(C) AR 5

78  Rajasthan Small Indusiries Corporalion was eslablished in the year:-
TrIET T FaT e <t v o aef 8 ot
(A) 1947 (B) 1951
(C) 1961 (DY 1967
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g
Q13 ] -Ié 16 [ P.T.O.




79  Which ofthe following projects has brought a revolutionary change in the tribal dominated areas of Rajasthan?
Choose the mosl appropriale oplion [rom below:
{A) Bhakra Nangal Dam Project {B) Jawahar Sagar Dam Project
(C)  Veer Sagar Dam Project (DY Mahi Bajaj Sagar Dam Project
(E)  Question not attempted

frfcrfiaa & & fore TiEiST & USET™ & STTeaTH! Sget 411 H ShIl-aehn] Tad 7T &2

e 5 o w3 forsheT =)
(A)  HREST 90T S YRS (B)  STITEL OFR SIiY iCI=HT
(C) SN HFR e qfeisHT (D)  HIET SIS 9T 18 YRS
(C) eAgeia o
80 Fefafad § w3 am e are?
(A) ST HeRmET R (B) TRAME R
(C) Hagrvarg) (D) 39 i e 2|
(F) 3T T
81 GEU o TR ! 7 I AT o6 o 0ap ¥rea 2
(A) AT (B) FHAF
(C) e (D) F
(F) 3T T
82 T IwEEh - e R
T -1 (FETa0) AT -1 (37
T - FEAT U FAT L TR FE
g SfeT 0. e giem #
c. S FETH M. G 5 W
d. eI IV. S99 S 91 T
= faw e foeredt H @ waifue 3w o If
(A) a-Lb-1V,c-1d-IlI (B) a-ILb-llLc-1d-1V
(C) a-lLb-lc-I,d-1V (DY a-ILb-Lc-0ULd-1V
(E) HTana s
83 favm wreg Frafy - g &-
(A) fa+wm B) fa+wm
(C) faw+m (Dy T +wm
(C) AR 5
84  oAfd-STHI s W T HE o e A -
(A) TR - 77 (B) 9Ed - TR
(C) e - e (D) Fgor - sfearer
(C) AR 5

Q13] J& 17 [ P.T.O.



Read the passage and answer the gquestions that follow by choosing the correct option. (Q. 85 to §9)

Experts in climatology and other scientists are becoming extremely concerned about the changes to our climate
which arc taking place. Admittedly, climate changes have occurred on our planct before. For example, there have
been several ice ages or glacial periods.

These climatic changes, however, were different from the modern ones in that they occurred gradually and, as far
as we know, naturally. The changes currently being monitored are said to be the result not of natural causes, but of
human activity. Furthermore, the rate of change is becoming alarmingly rapid.

The major problem is that the planet appears to be warming up. According to some experts, this warming process,
known as global warming, is occurring at a rate unprecedented in the last 10,000 years. The implicaticns for the
planet are very scrious. Rising global temperatures could give risc to such ecological disasters as extremely high
mcrease 1n the incidence ol Mlooding and of droughts. These in turn could have a harmful ellect on agricullure.

Tt is thought that this unusual warming of the Earth has been caused by so-called greenhouse gases, such as carbon
dioxide, being emitted into the atmosphere by car engines and modern industrial processcs, for cxample. Such gascs
nol only add 1o the pollution of the atmosphere, bul also creale a greenhouse ellect, by which the heat of the sun 1s
trapped. This leads to the warming up of the planet.

Politicians are also concerned about ¢limate change and there are now regular summits on the subject, attended by
representatives from around 180 of the world’s industrialized countries. Of these summits, the most important one
took place in Kyoto in Japan in 1997, There it was agreed that the most industrialized countries would try to reduce
the volume of greenhouse gas emissions and were given targets for this reduction of emissions,

1t was also suggested that more forests should be planted to create so-called sinks to absorb greenhouse gases. At
least part of the problem ol rapid climate change has been caused by loo drastic delorestation.

Sadly, the targets are not being met. Even more sadly, global warming about climate changes are often still being

regarded as scaremongering,

85  Ideniily the correct slalements

a. The ice ages or glacial periods are examples of climate changes in the modern times.
b. In the past, climate changes occurred gradually and naturally.

C. Rising global tempratures can cause more [looding and droughis.

d. Gireenhouse gases are given out by plants.

€. The climate changes today are dissimilar to those of the past.

Choosc the most appropriate answcer from the options given below:

{A) b,cand e only. {B) a,bandconly.
(C) b,aanddonly. {(Dy c¢,dande only.
(E)  Question not attempted

86  The greenhouse effect is caused when
(A)  The green trees form a canopy in the forest
(3)  The roof is covered with green plants to keep the building cool
(C)  The gases like carbon-dioxide trap the heat of the sun in the air
(D) The green coloured glass or mesh is used to cover the plants

(E)  Question not attempted

Q13] J& 18 [ P.T.O.



87

88

89

90

91

Which of the following were not suggested at the Kyoto summit?

a. Moeost industrialized countries would reduce emissions,
b. More forests should be cut to create the so called sinks.
C. The automobile industry should roll out electric vehicles.
d. Targets were set to reduce the volume of greenhouse gas emissions.
C. the rate of industrialization should be contained.
Choose the most appropriate answer from the options given below:
(A) a,bandconly. {(B) b,canddonly.
(C) c,dandconly. (DY b, candconly.
(E)  Question not attempted
The implications of an unpreccedented rate of arc very scrious.
{A) Flooding & draughis {B) Global warming
(C)  FEcological disaster (DY Kyoto summit

(E)  Question not attempted
Match List-T with List-IT

List-1 (Words) List-1L (Meaning)
a. Unprecedenied L Foresls land, which absorbs carbon-dioxide
from the air
b. Implications U.  That which has never happened before
C. Sinks HI.  The deliberale spreading of [righlening rumours
d. Scare mongering TV. Something that is suggested
Choosc the most appropriate answcer from the options given below:
(A) a-Lb-lc-10d-1V {B) a-ILLb-1V,e-Ld-1l
(C) a-TML,b-TV,c-T,d-1 (Dy a-IV.,b-TMLc-TLd-T

(E)  Question not attempted

Choose the most appropriate English translation of the given sentence

IERT STI fopar fera 22

(A)  Who has insulted him? (13)  What has hc been insulted by?
(C) Heis insulted by whom? (D) Has he been insulted?

(EY  Question not attempted

Match List-1 with List-II

List-T (Forest Area) List-IT (Place)
a. Sariska L Alwar
b. Darrah 1I. Kola
C. Mount Abu 1. Karauli
d. Kailadevi Iv.  Siroh
=t -1 gl -1 & gufaa i
Tt -1 (T &) Feit - 1T (@)
a.  HiEm L 3R
b & I aler
c. WSS I 101 A i
d. Femet v, e

Choose the mosi appropriate answer [rom the oplion given below:

e fa e feeredt 5 & waiferR SRR 3K 4T ;

(A) a-1Lb-lULc-1,d-1V B)y a-Iv,b-Ulc-1,d-1l
(C) a-ILb-lle-1v,d-1I (D} a-1LLb-Lec-IV,d-1l
(E)  Question not attempted / 31?@'?&[ EE]

Q13] J& 19

[ P.T.O.



92

94

96

O
A metal is in the form cubic crystal lattice. Lattice constant of unit cell is 2.88 A and density of metal is 7.20

gm/em®. What is the number of unit cells for 100 gm metal?

TS 91 & (oreee ST STTeteh o & 1 ) Uahah I {1 ot STeteh et 2.88 A & T 9T T B 7.20 gmiem’
21 100 7T 7 H Usha ifisprel st g 7 22

(A) 6x10% (B) 5x10%8

() 2x102! (Dy  3x10%

(E)  Question not attempted / 31?@'?&[ EE]

If the light from a distant object after refraction by eye-lens converges at a point in front of the retina, this
type of eye defect is called :

(A) myopia or ncar sightedness (3) hypermetropia or far sightedness

(C) preshyopia (D} astigmalism

(E)  Question nol allempled

U hl ] ¥ AT 1T Tl 35 o1 H S19aici ok S18 37 AT o w8 o foig o2 il 2ian 2 o 58 g =
T R FETIAE ;

(A) W o e gfeary (B)  BTHHIAT AT L gfERTT
(C) UeE (D) Afofgerar
(C) AR 5

A dcaler offers three successive discounts of 50%, 10%, 20% on an article. What is the single effective
discount rate?

e S Tl T T T TR 50%, 10% ST 20% i i P2 301 21 Tohet ToTe e aX T 82

(A)  60% (B)  64%

(C) 69% Dy 72%

(E)  Question not attempted / 31?@'\’&[‘5[‘3

a

B
What 1s the equation of the hyperbola, the length of whose latus rectum is 8 and eccentricity 1s 57

3
3 AT 1 T 1 & foraeh i =t s § a9 Ieshesal 5 &7

b

2 2 2 o
- X _J' _ X ¥
=] R S
A % 5 By o-To=
2 2 2 2
oy X
— =1 ———:]_
© 16 25 () 25 16

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

The shadow of the pole becomes 80 m longer when the altitude of the sun changes from 43° to 30°. Then the

height of the pole is:

T G F A (RES) 45° H 30° TTdT & qef W ot ST 80 HieT qo TSI 81 ST 8, Tl =ht HalTs e
(A)  40(\3-1)m¢Hr) @) 30(v3+1)m )

(€)  40(\3+1)m(dt) (D) 80(x3+1jm i)

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

Q13] J& 20 [ P.T.O.



97 A sum of money is to be distributed among T, Q, R, S in the ratio of 6:2:5:3. Tf R gets T 2000 more than S,
then what is Qs share?
Ueh AT P, Q. R, S 3 M 6:2:5:3 o ST H ford i shi STl 21 Afe R 26l S H T 2000 125k [Hetd & df Q &
Ted foper 87
(A) Z1,000 (B) 2,000
(C) 22,500 (D) T 3,000
(E)  Question not attempted / fﬂ?la?lfﬁ RE]

98  Kamal had 200 toffees. He gave 5% toffees to Ram, 153% toffees to Aman and one-fourth of the toffees to
Gopal. How many toffees are left with Kamal after the distribution?
I o YR 200 ST i1 SE 5% ST T R, 15% ST ST ET ST et S T Lt W et e
e % T8 A ok U TRt Tl sreft? !
(A) 100 {B) 110
<)y 120 {D}y 130
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

99  The branch ol science which is related 10 the improvement of human race and 15 based on Mendel’s Law is-
{A)  Anthropology {B) Lugenics
(C) Microbiology (D) Genelics
(E)  Question nol allempled

foT <t =@ e S AeE S o g E g 2 s iee & et ot s 2-

(A)  AHEEE /Ui (B) IS
(©) gasifadt/ Tt (D)  ATFATER / St
(C) AR 5
100 When F1 generation is crossed with any one parenl, then it is called:-
{A)  Tesl cross {B) Back cross
(C) Reciprocal cross {D} Dihybrid cross

(E)  Question nol allempled
o F1 4! st forsdt off e Siven © Gemtor =207 ST & A7 3 shaerdl 8-

(A) e deptor (B)  Wellq Heakaur
(C)  IeFH G (D) TEweRT dertor
(C) AR 5

101  Gandhi Sagar dam is built over which of the [ollowing rivers?
{A) Narmada {B) Sabarmati
(C) Chambal {D) Manas
(E)  Question nol allempled

et arR |y Fefefad § o farg e o s mr

(A) T (B)  HIRHT
(C) =T (Dy A
(C) AR 5

Q13] J& 21 [ P.T.O.



102  The rivers originating from the Amarkantak range, flowing in all directions, is an example of which of the
following type of drainage patterns?
(A)  Trellis (B) Centripetal
(C) Dendritic (D) Radial
(E)  Question not attempted

SRS vad it & e aredt At auft s o sedt & 5 Fefataa o o for T 3 STe 319eme o ey

T 3T 27

(A) SAFAT (3) AR
(C) FHIFHIH (D) s
(E) eigafia wa

103 Which of the following mountain peaks is situated in India?

(A) Mt Everest (B) Mt Dhaulagiri
(C) Mt Annapurna (DY Mt Kamect

(EY  Question not attempted

Frtafaa ¥ @ =i 91 vad frer wRe § feea 22

(A) WIS< T (B) IS e
(C) WIS ST=qut (D) IS FHL
(E) gt o

104 Where do women wear jewellery named ‘Borla™?
(A) Ear (B) Nose
(C) lland (DY llcad
(EY  Question not attempted
ST AT TN HigelTd el dedl 87

(A) &FH B) TH
(C) = ™y fm
(E) gt o
105 According to census 2011 which of the following districts of Rajasthan has the highest literacy rate?
(A) Bikaner (B) Kota
(C)  Churu (DY Jaipur

(EY  Question not attempted
2011 =1 SHVHT o 216N FfetRaa 5 o T5eam <& ford el 3§ rerar o ged s1fies 22

(A) #fwR B) Fr
€ =* (D SR
(E) gt o

Q13] J& 22 [ P.T.O.



106  Given below are two statements about Laterite soil:
Statement I: Laterite seil is found in Dungarpur, central and southern part of Udaipur and in Rajsamand
regions.
Statement IT: Tt looks red due to presence of iron.
Tn light of the above statements,choose the most appropriate answer from the options given below,
(A) Both Statcment [ and Statement 1l arc true.  (13)  Both Statement 1 and Statement 11 are falsc.
(C)  Staternent T is true but Statement 1T is false. (D)  Statement T is false but Statement 1T is true.
(EY  Question not attempted
Tt Tretee g AN H & A fu U E -
FHUT -1 s gl SR, IS o We S ol AT i Tsmmg &= 8 T8 St 2)
wAT - T ; TR () Fr SuRerer 3 For 78 et fewdt 21
ST A o AT H AHITRIT Tl § 4 HaT 19k ST S = :

(A) oo T 3T 2T |e 2 (B) Y T3 IT ST 318eT 2
(C) FA1EA T, o o 11 3racT 2| D) FAIFEAL, FgFm o
(E) #Tana s

107 Toetarfiaa ® smr %1 yataaT= 58 S-ar 87

(A) &t B) I
(C) Mg (D) =171
(F) ormia g

108 ffafaa & w1 faem wrse &-
(A) @t (B) o
(C) g (Dy FhaAm
(E) gt o

109 FTRredar vse < wh Fmfafias § F-a1 w319 18 22
(A) weA (B)  fomtor
(C) g (D) AT
(E) #Tana s

110  The scientist who classified the blood inte different blood groups is-
(A) Richard Lower (3) Jcan-Baptiste
(C) Karl Landsteiner (D) Edmund King
(EY  Question not attempted

s TR e ) FaRer wfem ot nfiger e o, = 3

(A) T=2anr (B) i -dftewd
(C) el oresd e (D) TeAe fohr
(E) #Tana s

Q13] J& 23 [ P.T.O.



111 Person with blood group can accept blood from all, while person from blood group can

donate blood to all.

(A O+ AB+  respeclively By O0- AB+  respectively
(C) AB+ ; Q respectively Dy AB+ ; O+ respectively
(E)  Question not attempted
B 91 91T ATk Tefl § T T80T oL HehedT 7, AT T =T TeT <l ot bl T €
T 2
(A) W O+ ; AB+ (B) ®As: O0- AB+
(C) M AB+ ; O Dy wHT: AB+ ; O+
(L) SAIHa T

112 Find the incorrect stalement about:- The recommendations of the Ashok Mehta Commitiee on Panchayati
Raj are:
(A)  The three ticr system of Panchayati Raj should be replaced by a two ticr system.
(B)  If the Panchayati Tnstitutions are superseded, elections must be held within one year.
(C)  Reservation of scats for SCs and STs on the basis of their population.
(D) Offcial participation of political parties al all levels ol Panchayali elections
(EY  Question not attempted
ATl T O ST HEeT WiHie ohr fhTiet o o T e s o o
(A) Tl demad U9 o v W e srEe am
(B) A Tt SETSAT o SAITRRAOT TR STAT &, T 0o o oh STaR AT 0T ST ey
(C) THHY o7 h 21 b forw wiel ot 3TReIvr Seh! SIHET o AATIR W
(D) Tt U Het B Osi1Teh getl sht Teieh TR u% aefigt
(C) AR 5

113 From which ol the [ollowing Constitutions has the Indian Constitulion borrowed the Direclive Principles of
State Policy?
{A)  British Constilution {B) Canadian Constilulion
(Cy  TIrish Constitution (D) US Constitution
(E)  Question not attempted

Frefefad o € Torg dfaym 8 yrdiy giaem @ gsg & Hifd Sz fgial st i foran mar 22

(A)  Tafeer wfaam (B) el AT HiTye
(C) HAPRIS &1 HiayT (D) ¥ UH T Hiay
(F) 3T T
114 The area of the triangle formed by the lines 2x + y =4, x ¥+ 1 =0 and x-axis is:
{A) 2 squnils {B) 3 squnits
(C) 4 sq units (D) 35 squnits

(E)  Question not attempted

A 2x +y =4, x -y + 1 = 0 T x-3781 © U BT o e 2

(A) 2R (B) 3amgE
©) 4T (D) 5ai 3w
(F) 3T T

Q13] J& 24 [ P.T.O.



115  Inthe figure below, PQ is parallel to RS, ZPQM =80° and £8MO = 25°. What is the value of £OSM ?
Frr < TS STET H PQ, RS FEAK R, £ POM = 80° 3T £ SMO = 25° T £ OSM T 71 7 &7

. }
O ¢ M

=
(A) 50° (B) 60°
(C) 55° (Dy 65°

(E)  Question not altempled ¢ ailflaﬁﬁ_d RE]

116 Take given statements to be true even if they scem to be at variance from commonly known facts. Read the
conclusions and then decide which of the given conclusions logically follows from the given statcments.
Statement : No singer is direclor

Some direciors are leachers
Some teachers are students
Conclusion: (T) Some singers are students
(IT) Some directors are stmdents
(A)  Only conclusion T follows (B)  Only conclusion IT follows
(C)  Ncither conclusion 1 nor 1L follows (D) Both conclusions [ and 11 follows
(E)  Question not attempted
e {30 110 U= ) Fed A1 S, Sfelfoh STH W ST o AT 9L STaT Sete Sidl 1, T et shr srea
3w Fvly o o St w7 e e freared g = € e o %7 qrer a8
WY HIS T [HoTh T 2l

%7 fdeTeh sreaTu 8|

FS HTATTF B 2|
fomendl: (1) Fo I T E

(1) Fo v s 8l
(A) Faet s | TR E (B) eIt forrd L @R E
(C) T e 1 averar 1 wet & (D) <1 fseRd 1 ue 11wt 2
(C) AR 5

117 An object is placed al 30cm in [ront of a concave mirror of radius ol curvature 15cm. The image lormed will

be :-
(A)  magnified, real and inverted (B) diminished, real and inverted
(C)  magnified, virtual and erect (D) of same size that of object, real and inverted.

(EY  Question not attempted
T 5 T 1 S Bt s o aret sraret Uo7 o A 30 ST S O T 6T & At 9 S gt g

(A) SAETd (F2T), TrEAfTE K I (B) DI, FEAEF IR I
(C)  HAEfda (<), It 3R g (D) T T, IRl S IeeT
(C) AR 5

Q13] J& 25 [ P.T.O.



118

119

120

121

122

123

124

India’s first solar observatory has begun its journey to the destination of Sun-Earth L1 point on-
(A)  January 25, 2024 (B)  September 02, 2023

(Cy November 07, 2023 (D) December 01, 2023

(E)  Question not attempted

Wsﬁqﬁﬁléwﬁuﬁ-qﬁ%ﬁﬂa foig L1 <l AmAT ey ST <l <12

(A) w25, 2024 (B) Tads 02, 2023
(C) H=e 07,2023 (Dy femsT o1, 2023
(E) gt o

Which one is the operational heavy lift launch vehicle of ISRO used to launch the Chandrayaan-3 mission?
FEM-3 THYM I i (TE90T) L o T 3630 (TSRO) =61 HehdTel: 2o [oTHe i ared &9 a1 82

(A) LVM3-M4 (B) GSLV MK2

(C) GSLV MK3 (D) GSLV

(E)  Question not attempted / Bilfljﬂfﬁ RE]

ore G311 A1 W hY fI2iodT TS S, 99 ShEerd -

(A)  Tommor (B) Ty

(SERERICELY (D)  HTEHTH TRy

(E) gt o

FreTiad o &1 Terryh 158 shid-aT 27

() T (B) e

(C) 3 (D) WX

(E) gt o

SIS SAehl | QHUEY 1 @ ST (o1 81 30 a1 H 3o 8-

(A) &9 (B) 19

(C) e D) ¥

(E) gt o

At what time between 7 and 8 O’clock will the hands of a clock be in the straight line but not together?

{A)  Sminpast7 (B) 5% min pasi 7
3

(Cy 20 min past 7 (D) ?E min past 7

(E)  Question not attempted

G H 7 SR 8 S o WY SHeh! Y| [ohE WHT O ek € ALeT Ll H Tl edfefed Uk &1 e sii?

(A) 7ot 5 fime d (B) 7w5% fred
(C) 7oL 20 e o (Dy 79 711 e u
(F) 3T T 0
"o TT58 T Gy fr=ag B

(A)  Z=AT+ T (B) == + 707

(C) Zd+=ERT (Dy ST +=

(F) 3T T

Q13] J& 26 [ P.T.O.



125 In which category of Pradhan Mantri MUDRA Yojana of FY 2023-24 maximuwm accounts are there in

Rajasthan?
(A) Kishore (B)  Shishu
(C)  Tarun (D) Vyask

(EY  Question not attempted
SIS ST AT o forfier e 2023-24 H TSTeer & watie foh it 3 @ w

(&) o ®) frg
(C) = (DY =a&6
(E) #Tana s
126 Which of the following is an important ‘ISABGOL" producing arca of Rajasthan?
(A) DBarmer (3) Jodhpur
(C) Jaipur {DY Kota

(E)  Question nol allempled
Frfafias 7 § ToT 1 19 |1 &7 U Hewu SHeriel StIesh &7 87

(A) SR (B) S
(C) IR (D) F
(E) i ot

127  Which City ol Rajasthan is known as “City of Garmenls™?
(A) Bhilwara (B) Bikaner
(C)  Jaipur (D) Kota

(E)  Question not attempted

TSI 1 1 61 T2 I 3 9 (Rt 3i7eh el 3 7 8 S S £

(A)  fiemarsT (B) ftwrT
(C) AR (Dy =T
(E) HTana s

128  What is the minimum number of meetings of Gram Sabha to be held in Rajasthan in a year under the
Panchayati Raj System?
Choosc the most appropriate option from below:
TR H Yt et foeen o qed T a9 H AT 27 STl 319 a1 i sk i gaw e feadt 2

1 & o Ao I T 7|
(A) 4 (B) 3
<€ 2 (Dy 1

(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

129  Which ol the lollowing is the [irst Super Thermal Power Plant ol Rajasthan?
Choose the mosl appropriale oplion [rom below:
{A)  Suralgarh Thermal Power Stalion {B) Jawahar Sagar Hydroelectric Power Siation
(C)  Chhabra Thermal Power Plant (D)  Mahi Bajuj Sagar Hydro Power Plant
(E)  Question not attempted
9 T | &1 TSR 1 T IO e 9Ta wie 8

e 5 o w3 forsheT =)

(A) TG A T T (B) TR AR Yot 9Tag =29
(O) BIET YA TR T (D) AT TS O BRI’ Wi
(E) HTana s

Q13] J& 27 [ P.T.O.



130 In alkaline medium, the equivalent weight of KMnQy is -

& wrer #, KMnO,, %7 Joaieh R 2 -

M . M
(C) %(26.33) (D) M (158.00)
(E)  Question not attempted / Bilfljﬂfﬁ RE]

131 CH,COOC,Hs+H,0 —> CH,;COOH + C,H,0H

Tn the above reaction, which of the compound is the *aute catalyst™?

FUT ST TS ARt o R a1 Afiies < IR it Hitd s R 22

(A)
(©)
()

CH,COOC,H; (B) H,O
CH,COOH (D) C,H;OH
Question nol allempled / ailflaﬁﬁ_d RE]

132 Zn+CuSQ, — Zn SO, +Cu

Which is being oxidised in the above reaction?

S ST S i 8w 2

{(A) Zn {B) ZnSO,
(C) Cu (DY CusSO,
(Ey  Question not attempted ¢ EFlﬂﬂﬁ_d g

133 Choose the most appropriate passive form of the given sentence;

People must not leave bicycles in the hall.

(A)  Nobody should leave bicycles in the hall.
{(B) Bicycles musi not be lefl in the hall.
{(C) The bicycles are nol 1o be lefl in the hall by the people.
(D) The hall must not have any bicyeles of people.
(E)  Question not attempted
134  Choose the most appropriate option 1o [ill in the blanks:
It was windy morning but they still hired boal and went [or sail
along coast.
(A) a,x,a,the (3) the,a, x,a
(C)  the, x, x, the (DY a,a,a,the
(EY  Question not attempted
135 Choosc the most appropriate options to fill in the blanks:
my friends are busy tonight. of them are writing an exam the next day, but
of them were still ready to party and so far of them have confirmed.
(A)  Some, some, some, all (B) most, none, all, some
(C)  none, most, all, none (D)  All, most, some, none
(E)  Question nol allempled
Q13 ] -Ié 28 [ P.T.O.



136 32T T JeTal o1 aat 37 2-

(A) IS BHE T T&HT (B) = firer
(C) 0 awE ARAT (D) STETEEAT
(F) ormia g
137 Frefafaa § 33 o 7 e 2-
a. aAferfa b. "sc&fl'f
C. NI d. T
e. [=L2e)
et feq e fephedl H & Weriferes 30 3ot T :
(A) a.cd {(B) b,c.d
(Cy ¢ de (D) b,de
(C) AR 5
138 Tt ‘Corrigendurm’ % %I'Q sqg?ﬁ%ﬁw%-
(A) g (B) Tt
(C) T (D) Ho
(F) 3T T

139 Some boys are standing in a queue [acing North. Kamal is 342 [rom the le[l end while Ravi is 20t [rom the
right end and Ravi is 9t to the right of Eshaan. If Kamal stands sccond to the left of cshaan, then find out the

total number of boys in the row?

F TAGeh U, ik H IR faam <t 311X 7 fobt 50 g &) shiet ST B 3440 92 Selfen U Qlfeed BRA 209 7 AR
T, So1H <6 it a0 9d Tt W gl 21 Hfe e, S o SRl 9 gL T el 2 Al Uit § g il g

HE&AT 914
(A) 60 (B) 62
(C) 64 (DY 66

(E)  Question not attempted / fﬂ?la?lfﬁ RE]

140 There is certain relationship between the pair on the left side of :: Set up the same relationship on the right
side ol :: then [ind out which oplion would replace the 2"

LANGUAGE : PCRIYCKG :: COMPUTER : ?

12 % AT A W I & 0T 5 HAA B € ¢ o AMeAT 70 T A Herer TATIO L Aewgh T, ga <, {96 2 3 Torr

T T ferehed 1T wekar 87

LANGUAGE : PCRTYCKG :: COMPUTER : ?

(A) GQMNYVIT {B) GQRRYVIT

(C) GOOQRYVIT (DY GQQRYSIT

(E)  Question not attempted / 31?@'\’&[‘5[‘3

Q13] J& 29 [ P.T.O.




141 The value of [log, g, (Slog 100)]° is:

[logygo (Slog 100)] A &:-
1

(A) < (B) 1
1 1
© 15 ®
(E)  Question not attempted / fﬂ?la?lfﬁ RE]
142 Ifsmm23°= %, then sec 23° - sin 67° 1s equal Lo :
afg 23° = % T sec 23° - sin 67° AL -
d a2
(A) B2 _ 2 (B) 022
7 a
© S ™ T

(E)  Question not attempted / 31:|\ﬁ|‘1'?'| EE]

143 A solid metallic eyclinder whose radius and height are equal 1o each other is 10 be melied and 162 identical
solid balls are Lo be recasted [rom the liquid melal, so formed. What 15 the ratio of the radius ol a ball 1o the

radius of cylinder?

Ush S Gifeaieh; siet, foraehl Bream Ue i1 o i o g9 €, <6 fuerell st ushl 9tet 91q § 162 ¥9H 3% 11
AR €] T1e ol forsa ua fetst & fors ot st = &2
(A) 1:4 B) 1:
) 1:6 D) 1:
(E)  Question not attempted / fﬂ?la?lfﬁ RE]

oo La

144  Which technique 13 suilable [or the disposal of biomedical waste?
{A) Disposal in waler {B) Incineration
(C) Landill {D)} Recycling
(E)  Question nol allempled

St -[feredT 29 1RTE FueH & Y daien &:-

(A) o Fuem (B) ST AT
(C) <l (D) G
(E) gt o

145 Natural rubber is a polymer of ;
(A) Buna-N (B) caprolactam
(C) Neoprene {(Dy Tsoprene

(EY  Question not attempted
ST e e Frfafad w5 ages ® -

(A) SI-TT (Buna-N) (B)  FUOFT
(OBREEIFE] (DY  SATEIA
(E) HTana s

Q13] J& 30 [ P.T.O.



146  The organic compound can be obtained from the living organisms only and cannot be synthesized by artificial
mcthods in laboratory. This is called :
{A) Freons Theory {B) Wohler Theory
(C) Vital Force Theory (D) Theory of Hydrocarbons
(E)  Question nol allempled
TS (3R FTIehT 3Rl SHaleT ST SiTET & 2 STH ToRalT SIT TehaT & 3R SoR! TARTITET # FiW it grr g v 78
TefaIT ST Wepell 81 IE SHsella] &

(A) T e (B) drew frgia
(C) = - 7k fagia (D) ETESiTES faEid
(E)  SF{did o

147  In Microsoft word, which of the following provides information about the current document?
(A) Standard Toolbar (3) Tabstop
(C) Status bar (D) View buttons
(EY  Question not attempted

s 92 H fafafiaa § € #i9 1o SR & aR § ISR T w87

(A) TEE TR (B) HWT
(€) AR (D) =AFH
(F) 3T T

148  Which of the following is NOT a function of MS Excel?
(A) Count() (B) MIN{
(C) MAXJ() (D} Subtract ()
(E)  Question nol allempled
Frefertiaa i & S TRer 1 T A
(A)  HEE() (B) THHARU ()
(C)  THITH () (D)  HFT ()
(C) AR 5

149 1 ZB (Zettabyte) is equal to:
1 ZI3 {(Zcttabyte) ELCIEH
(A) 1024 EB (B) 1024ZB
(Cy 1024 KB (Dy 1024 GB
(E)  Question not altempled ¢ ailflﬁﬁ_d RE]

150 Which ol the [ollowing shorteut key of PowerPoint thal helps 1o preseni the slides [rom the beginning?
FATIRET | & i UTas 91se 6 Iehe i (key) & ST TRFT & TATSES ISie F0T § 7a3 ! &7
(A) Fl {B) F7
€y F>5 (D) F4
(Ey  Question not attempted ¢ EFlfﬁﬁ_d g

Q13] J& 31 [ P.T.O.
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IR UAF W 71 Wit § - qor wfa AR fadver wia, wdtern waTie o qe we oig § ud uiandi 3w
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